
  

後期物理 解答例  

I  

問 1 tan𝜃𝜃 = 𝐻𝐻
𝐿𝐿
 

 

問 2   𝑣𝑣0 �𝐻𝐻2+𝐿𝐿2

𝐻𝐻
𝑔𝑔 

 高さ   𝐻𝐻
2
 

 

問 3   𝑣𝑣0 �𝐻𝐻2+𝐿𝐿2

2𝐻𝐻
𝑔𝑔 

 高さ   𝐻𝐻
4
 

 

問 4  ℎの条件  ℎ < 𝐻𝐻
2
  

 𝑣𝑣0の条件 𝑣𝑣0 > �𝐿𝐿2+𝐻𝐻2

𝐻𝐻
𝑔𝑔 

 

問 5  ℎの条件  ℎ < 3𝐻𝐻
4

  

 𝑣𝑣0の条件 �𝐿𝐿2+𝐻𝐻2

2𝐻𝐻
𝑔𝑔 < 𝑣𝑣0 < �𝐿𝐿2+𝐻𝐻2

𝐻𝐻
𝑔𝑔 

 

  



  

II 

問 1  i) 𝑁𝑁： 4𝜋𝜋𝜋𝜋𝜋𝜋，  𝐸𝐸：  𝑘𝑘𝑘𝑘
𝑥𝑥2

 

 ii) 𝑁𝑁： 0，  𝐸𝐸：  0 

 

問 2 𝐸𝐸0： 0 ， 𝐸𝐸𝑟𝑟： 𝑘𝑘𝑘𝑘
𝑟𝑟2
， 𝐸𝐸𝑅𝑅1： 4𝑘𝑘𝑘𝑘

9𝑟𝑟2
， 𝐸𝐸𝑅𝑅2： 𝑘𝑘𝑘𝑘

9𝑟𝑟2
 

 

問 3 𝐸𝐸0： 0 ， 𝐸𝐸𝑟𝑟： 𝑘𝑘𝑘𝑘
𝑟𝑟2
， 𝐸𝐸𝑅𝑅1： 4𝑘𝑘𝑘𝑘

9𝑟𝑟2
， 𝐸𝐸𝑅𝑅2： 0 

 

問 4 𝐸𝐸0： 0 ， 𝐸𝐸𝑟𝑟： 0， 𝐸𝐸𝑅𝑅1： 0， 𝐸𝐸𝑅𝑅2： 𝑘𝑘𝑘𝑘
9𝑟𝑟2

 

 

 

 

問 2    問 3    問 4 

  



  

III 
問 1  A 固有    B 共振     C うなり 

 

ア �𝑘𝑘
𝑚𝑚

 

 

イ 2𝜋𝜋�𝑚𝑚
𝑘𝑘

 

 

ウ −𝑚𝑚𝑚𝑚2𝑥𝑥 + 𝐹𝐹0 sin𝜔𝜔0𝑡𝑡      

    

エ 
𝜔𝜔0+𝜔𝜔
2

𝑡𝑡  

 
オ 

𝜔𝜔0−𝜔𝜔
2

𝑡𝑡 

 

カ 
4𝜋𝜋

𝜔𝜔0+𝜔𝜔
   

 

キ 
4𝜋𝜋

𝜔𝜔0−ω
   

 

 

問 2  ① １  ② ６  ③ ５ 

 

  



  

IV 

問１ ア 
𝑝𝑝0𝑉𝑉0
𝑅𝑅𝑇𝑇0

  

 ① 等温  ② 断熱  ③ 定積  

 

問 2 𝑉𝑉B
𝑉𝑉A
： �𝑝𝑝0+𝜌𝜌𝜌𝜌ℎ1

𝑝𝑝0
�
1/γ

 

 𝑉𝑉C
𝑉𝑉A
： 

𝑝𝑝0+𝜌𝜌𝜌𝜌ℎ1
𝑝𝑝0+𝜌𝜌𝜌𝜌ℎ2

  

 

問 3   �𝑝𝑝0+𝜌𝜌𝜌𝜌ℎ1
𝑝𝑝0

�
1/γ

= 𝑝𝑝0+𝜌𝜌𝜌𝜌ℎ1
𝑝𝑝0+𝜌𝜌𝜌𝜌ℎ2

  

 

問 4 ℎ1
ℎ1−ℎ2

  

 

問 5 1.38  

 

 


